
SBL 0302 Salon Bridgekerho

2017-08-17  Navettaelokilpailu Lopputulos
3 pöytää, 6 paria. Jakomäärä: 25. Keski: 50.

Pari Sit LK Tulos Pisteet
Jako:  1
6 1 3N N +1 8 430       4 0
3 5 4 E -1 K 50       2 2
2 4 3x E +1 3 -630 0 4

Pari Sit LK Tulos Pisteet
Jako:  2
6 1 5 W -1 3 50       4 0
3 5 2 E = 2 -110 2 2
2 4 4 W = 3 -130 0 4

Pari Sit LK Tulos Pisteet
Jako:  3
2 4 6 S = A 980       4 0
3 5 4 S +2 6 480       1 3
6 1 4 S +2 2 480       1 3

Pari Sit LK Tulos Pisteet
Jako:  4
3 5 2 W +2 9 -170 4 0
6 1 3 W +2 2 -200 2 2
2 4 4 W +1 2 -650 0 4

Pari Sit LK Tulos Pisteet
Jako:  5
3 5 3N E = 4 -400 3 1
6 1 3N E = J -400 3 1
2 4 3N W +1 2 -430 0 4

Pari Sit LK Tulos Pisteet
Jako:  6
4 3 3N N +3 8 490       4 0
1 5 3N N = 8 400       2 2
6 2 3 N +1 9 130       0 4

Pari Sit LK Tulos Pisteet
Jako:  7
4 3 3N S = A 600       3 1
6 2 3N S = 7 600       3 1
1 5 3N N -1 9 -100 0 4

Pari Sit LK Tulos Pisteet
Jako:  8
4 3 3 E -1 5 50       4 0
1 5 3 N -3 A -150 2 2
6 2 5x N -4 5 -800 0 4

Pari Sit LK Tulos Pisteet
Jako:  9
4 3 1N E -2 5 200       4 0
6 2 3x S -1 7 -100 2 2
1 5 3Nx N -2 K -300 0 4

Pari Sit LK Tulos Pisteet
Jako:  10
4 3 1 W -2 5 200       4 0
1 5 1 N = Q 80       2 2
6 2 2 S -1 A -100 0 4

Pari Sit LK Tulos Pisteet
Jako:  11
2 1 3N S +1 A 430       4 0
5 4 2 N = A 110       2 2
6 3 3 N -4 A -200 0 4

Pari Sit LK Tulos Pisteet
Jako:  12
2 1 4 E -2 3 100       3 1
6 3 4 E -2 J 100       3 1
5 4 1 E -1 7 50       0 4

Sija Pari Pisteet % Nimi Kerho
1 4 72 72,0 Rauno Tasala - Outi Säkäjärvi Salon Bk 
2 2 57 57,0 Anna-Liisa Hiuspää - Robert Såltin Salon Bk 
3 5 51 51,0 Varpu Honkakoski - Eero Kallio Salon Bk  - _ei_merkitty_kerho 
4 6 45 45,0 Risto Noki - Jorma Vapaa Salon Bk 
5 3 38 38,0 Jukka Pettersson - Pirkko Laiho Salon Bk 
6 1 37 37,0 Aare Talumaa - Matti Rintala Salon Bk 
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Pari Sit LK Tulos Pisteet
Jako:  13
6 3 3N N -1 A -100 4 0
5 4 3N N -4 J -400 2 2
2 1 4x S -3 J -800 0 4

Pari Sit LK Tulos Pisteet
Jako:  14
5 4 4 E -1 8 50       4 0
2 1 2 E +1 J -140 2 2
6 3 4 E = 5 -420 0 4

Pari Sit LK Tulos Pisteet
Jako:  15
2 1 3N W -1 2 50       4 0
5 4 1N W = 9 -90 2 2
6 3 2 W +1 A -140 0 4

Pari Sit LK Tulos Pisteet
Jako:  16
6 4 5xx N = K 800       4 0
1 3 4 N = K 130       2 2
5 2 4 E -1 A 100       0 4

Pari Sit LK Tulos Pisteet
Jako:  17
1 3 3 S -2 7 -100 3 1
5 2 4 S -2 A -100 3 1
6 4 4x W +1 J -690 0 4

Pari Sit LK Tulos Pisteet
Jako:  18
5 2 6 W -2 7 100       4 0
6 4 4 E +1 J -450 2 2
1 3 3N W +2 8 -460 0 4

Pari Sit LK Tulos Pisteet
Jako:  19
1 3 2N E -4 7 400       4 0
5 2 1N E -2 7 200       1 3
6 4 3 W -2 3 200       1 3

Pari Sit LK Tulos Pisteet
Jako:  20
1 3 1 W +1 7 -110 3 1
5 2 2 W = 10 -110 3 1
6 4 3 S -2 A -200 0 4

Pari Sit LK Tulos Pisteet
Jako:  21
4 1 3 N +1 10 170       4 0
3 2 4 N -1 2 -100 2 2
6 5 3N S -3 2 -300 0 4

Pari Sit LK Tulos Pisteet
Jako:  22
6 5 3N E -2 6 200       4 0
4 1 2 E -1 8 100       2 2
3 2 2N W = 2 -120 0 4

Pari Sit LK Tulos Pisteet
Jako:  23
6 5 3 E -4 J 400       4 0
4 1 1Nx W = 8 -180 2 2
3 2 2 S -2 2 -200 0 4

Pari Sit LK Tulos Pisteet
Jako:  24
6 5 3N N +2 10 460       4 0
4 1 3N N +1 10 430       2 2
3 2 2N N -1 10 -50 0 4

Pari Sit LK Tulos Pisteet
Jako:  25
4 1 4 E -2 A 200       4 0
3 2 1 W -1 Q 100       2 2
6 5 2N S -3 2 -150 0 4


